Lesson Practice 8A Lesson Practice 8C Systematic Review 8D

]. 6,]2,]8,§ ]' 67125]812473013614214875479 I. ]8—6=§
2. 6,12,18,24,30,36,42,48,54;9 2. 6,12,18,24,30,36;6 2. 42:6-=7
3. 6,12;2 3. 6,12,18,24,30,36,42,48,54,60;,10 3. 54:6=9
4. 6,12,18,24,30,36,42,48,54,60;10 4. 6,12,18,24,30,36,42;7 4. 24:3-8
5. 12:6=2 5. 18+6=3 5. 25+5=5
6. 6:6=1 6. 54:6-9 6. 18+2-9
7. 24+:6-=4 7. 6+6=1 7. 54:9-=6
8 36:6=6 8 30+6=5 8 60+10=6
9. 42:6=7 9. 12:6=2 9. 48:6-8
10. 18:6-3 10. 24:6-4 10. 72:9-8
1. 60+6=10 1. 42+6-=7 1. 21 _-
12. 24:6-4 12. 36:6-6 3 °
13. 42:6-7 13. 48:6-8 12. %=z
1a. 54 _g 14. 89 _qo 13. 12x6-72sq ft
6 = 6 — .
30 14. 7x3=21sqin
15. 35 15. 249 15. 4x4=165qin
16. 48:6-8 12 16. 23 20+3
- 16. -2 36 3046
17. 24:6=4 ants - $28 6 - 58 ver friend I T
. +6=$8 per frien
18. $30:6=%5ada
Y 18. 18:6-3ft ;;8 égg*gg*g
+90+
3+3=1vyd
. 828 800+20+8
Lesson Practice 8B . . 2048
. +
1. 6,12,18,24,30;5 34 3044
2. 61 ! 190200 30
3. 6,12,18,24;4 ;;2 200 +80+2
4. 6,12,18,24,30,36,42,48;8 514 2000+100 +40
5. 36+6=6 m 2000+ 600 +50+2
6. 60+6-10 18. 65 60+5
7. 30+6=5 x 15 x10+5
8 18.6-3 305 30040045
+00+
9. 54+6-3 65 600+50+
10. 42:6-7 975 900+70+5
1. 6:6=1
12. 24 6_4 19. 12x15=180 baby mice
) TUES 20. 61-45=16sq ft
13. 18+6-3 21. 36+:6 =6 afghans
14. %=§ 22, $39+$28-$67
48
15. 2°_
5. 5 =8
16. 12:6=2

17. 60+6=10songs
18. $54+6 =39 each hour
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12+6=2
60+6=10
42+6=7
24+-6=4
27+9=3
40+5=38
20+10=2
12+3=4
15+3=5
30-6=5
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- 26
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45 40+5
x22 x20+2

1 10
180 100 80+0
80 800+00
990 900+90+0

16 10+6
x 14 x10+4

2 20
144 100+40+4
16 100 60+
224 200+20+4

39 30+9
x 5 X 5
14 100 40

55 +50+5
195 100+90+5
30+3=10vyd
$6x10 =360

14x18 =252 sqgin

46 +28 =74 mi
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Application and Enrichment
8G

airplane

1. Put a black X on the four
shapes that do not have
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48+6=§
18+6=3
12:6=2
36:6=6
72-9=8
54+6=9
27+3=9
45+5=9
70+10=7
16+2=8

42
5 7

60
5 - 10

185
+18

103

3&\17
- 338

9

49
21

70

9&M
-25

39

33 30+3
x24 x20+4

1 10
122 100+20+2
66 600+60
792 700+90+2
44 40+4
x14 x10+4
11 100 10
166 100+60+6
44 400+40
616 600+10+6
15 10+5
x15 x10+5
12 100 20
55 +50+5
15 100+50
225 200+20+5
24+6 =4 turns

$35x14=5$490

42+6=

7 ft

four sides.

Five parallelograms; they
all have two sets of parallel
sides.

Three rectangles; they all
have four right angles.
One square; all four sides
are the same length.

The unmarked figure is a
trapezoid.
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